
Hr4rf cn3nmfilartufirmi*rsunrarZHTAMr4RCrroprbrH
xoPooHLI AAPTbIH TyIIIAAI

dl/g ,,,, l/ "ur,,,&"o", prruu, A/ff YnaaH6aarap xor

Huitcnenwna l4pregurZu cnoprurH Vll r
HaaAMbtH 6aruiln uarHan raprax tyxah

MoHron Ync3r| 3acar saxilpraa, Hyrar geecrepufiH Horx, ryyHrarz yAr4p4narbrHryxail xyynwiut 33.5, TecamilH ryxan xyynnhn"l6-gyraap syilnnirn 16.5.5, 41 4yreepsyilnwfiu 41'2'2, HviilcnenvrLln 3acar,q"p;, 6ereeg'ynaaH6aarap xorbru 3axupar..ifirzFr2016-2020 ouur ytzn axilnflaraauut xeien6ep, Hvrilcnenvtiln egvrhu 3acar, unhrvuilr2018 oHA xerxYYaex YHAceH qhrflen, HuhcnenrarzH Sacar AaprbrH 2o1g oltsr Al17g,N923 Ayraap 3axnpaMxuirr ryc ryc yHAecneH TyLllMX us:

1' Hwilcnenuian Vlpregnna cnoprurH Vll Haagrvruin carcaH 6eu6or, aonerl6on,cnoprblH flBraH a[nan, xuitu gacrafl, u.lLtpegHrri uaratl, aepoofiK, oflc raraflT, coeraoner6onutH 1arnilrt 6onoH LUilnAer xopooAbrH uarHanbrH receilfir xaBcpanraap6arancyrarl.

3' Ten/lqeeuuhr eoxuon 6ar,rryynaxap\ rlaapAarAax 1L7B0.00 /Apean HoroH ca,AorIooH 3yyH HaFH umraH/ rerporrtlr HraricnsnnfiH 3acar AaprbrH 2'.01g o,ur A/g23Ayraap 3axhpaMxaap OarnarAcaH 3yyn xora4 aewiu 6raaHec,'^,^n^n*yynrnrn, co6fi,caHxyyrrtlH ToB 6onox apra xoMxesutatz roceilfiu 3apAnaac rapraxbrr HrrrflaH 6o,qorv/Ii. Tereng ep l -p soautoopcyrefi .
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HrrZcnsnutan Hvtmwnn 1newiau raMhp, cnoprb_tH xopooHbt
Aa'rb H 2o1B o*u 

;il ff,i:: !;f,:l:li:l:

Hwhcnennfrn lAprepnfrH cnoprurH Vll uaaguulH 6ar,
TaMilprlAblH luarHanblH TeceB

1, H u fi cn en r fr n' 14 prag n r,r u c n o prui n'.Vt 1' u aa.qa ur

1) Carcan 6eu6er

1

Barui,tu ttlaTHan: |-p 6ahp 250.000 x 2 = 500.000
2-p 6anp 200 000 x 2 = 400.000
3-p 6arlp 150.000 x 2 = 300.000

1.200.000

2 [JJrnger roTnorLl: 4 xVH x 100.000 = 400.000 400.000

AYH: 1.600.000

2) Boneu6on

J
6arrrZn uaTHan: 1-p 6arap 250.000 x 2 = 500.000

2-p 6atap 200.000 x 2 = 400.000
3-p 6arap 150.000 x 2 = 300.000

1.200.000

4 [JJrn4er rornorq: 2 xyu x 100.000 = 200.000 200.000

AYH: 1.400.000
3) Cnopr flBraH aenan

5
Sarrran uaTHan: 1-p6ahp 250.000

2-p 6ahp 200.000
3-p 6arZp 150.000

600.000

4) Xrfrn Aacran

b
Earufin uarHar: 1-p 6afrp 250.000 x 2 = 500.000

2-p6afip 200.000 x 2 = 400.000
3-p 6afip 150.000 x 2 = 300.000

1.200.000

5) Aepo6nx

7
EarnfiH uaTHan: 1-p 6arap 250.000 x 2 = 500.000

2-p6ailp 200.000 x 2 = 400.000
3-p 6arap 150.000 x 2 = 300.000

1.200.000

6) UluossHr,ri uarai

B

Earnfru uaTHan: 1-p6afip 250.000 x 2 = 500.000
2-p 6anp 200.000 x 2 = 400.000
3-p 6aNp 150.000 x 2 = 300.000

1.200.000

7) Onc raranr

o
EarrriH ruarHafl, 1-p 6ar,rp 250.000 x 2 = 500.000

2-p6anp 200.000 x 2 = 400.000
3-p 6arap 150.000 x 2 = 300.000

1.200.000

8) Co6r eonei6on

10
Saruila uiarHar: 1-p 6arap 250.000

2-p 6aup 200.000
3-p 6aftp 150.000

600.000

lU rnger xopooAblH uJarHan :

11

1-p 6afip 1.500.000
2-p 6ahp 1.000.000 2.500.000

lJ-.lnnger xopooAbtr rlarHax LloM, oproMxnon 280.000

AYH: 11.780.000
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